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SECTION A — (10 × 2 = 20 marks)

Answer any TEN questions
1. Define job evaluation.

2. What is compensation management?

3. What is benchmarking?

4. Explain job analysis.

5. What is behaviourally anchored rating scale?

6. Explain fringe benefits.

7. What is performance appraisal?

8. Explain minimum wage.
9. Explain incentive.

10. What is equity in compensation?

11. Write a brief note on pay commission.
12. Define motivation.

SECTION B — (5 × 5 = 25 marks)
Answer any FIVE questions
13. Discuss the “Ranking method ’’of job evaluation.

14. Explain the functions and objectives of compensation management.

15. Write briefly on benchmarking of compensation management.
16. What is the role of job description and job specification in compensation management?

17. Briefly explain the executive compensation strategies.

18. Give a brief account of wage incentive plans.

19. Explain employees state insurance act.

SECTION C — (3 × 10=30 marks)

 20.
I  Case Study (Compulsory)
       (1 × 10 = 10)
In one of the public sector undertakings with a good past ,a line manager was appointed as a chief of HRM within a year. After taking up an assignment he faced a situation to sign the wage agreement with the workers union. Non technical staff was dominating the union at that time. The union chastened by demand, favored the interest of those dominating persons. The union forced the management to revise the signed wage agreement of the gardener’s wages but was not equally vocal in pressuring for the increments in the wages of workers in a certain technical grade.

Considering the unions past support to keep the burden of pay revision with the guidelines of public sector policies, the management accepted their appeal for a revision and signed the revised agreement. Once the agreement was signed and communicated to the union, the technical class of the workers walked out from the union and formed a separate union of technical workers/staff. They marched around the premises of the undertaking with the banners:

“Here is where grass cutters more than gas cutters”,

“Till the pay revision, welding was a high rated job but after the pay revision grass cutting is a highly valued job”.

Questions:

a) Why is that grass cutters are getting more than gas cutters?

b) Suggest a possible solution.
         II. Answer any TWO questions:
                    (2 × 10 = 20)
21. Explain any four payment related theories of compensation.

22. Explain the competitive imperatives influencing compensation.
23. Elaborate the process of job evaluation.

24. Discuss the machineries used in the fixation of wage and salary.
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